

رقم بیان : ۲

$$(1! + 3! + 5! + \dots + 25!) (2! + 4! + 6! + \dots + 24!) =$$

↓ ↓ ↓

1 9 میان

= 0

۷ = میان

میان

!!

۰

۲+۴+ ... + ۲۴

۱۹

۵ = میان

۶ = میان

$$4 \times v = 4P$$

$$\text{الف) } \sqrt[r]{(t+\sqrt{t})^{-1}} \times \sqrt{1+\sqrt{t}} = \sqrt[r]{(t+\sqrt{t})^{-1} \times \frac{(1+\sqrt{t})^r}{(1+\sqrt{t})^r}} = \sqrt[r]{(t+\sqrt{t})^{-1} \times (t+\sqrt{t})^r} = \sqrt[r]{(t+\sqrt{t})^{r-1}} = \sqrt[r]{t} \times \sqrt[r]{(1+\sqrt{t})^{r-1}} = \sqrt[r]{t} \times \frac{1}{(1+\sqrt{t})^{r-1}}$$

[illegible]

$$\text{جواب)} \frac{\sqrt{11} + \sqrt{15}}{5 - \sqrt{5}} - r(\sqrt[4]{9} - 1)^{-1} = \sqrt{r} + \sqrt{r} - (\sqrt{r} + 1) = \boxed{\sqrt{r} - 1}$$

$$\frac{2\sqrt{2} + 3\sqrt{3}}{\Delta - \sqrt{4}} \times \frac{(\Delta + \sqrt{4})}{\Delta + \sqrt{4}} = \frac{10\sqrt{2} + \cancel{12\sqrt{2}} + 10\sqrt{3} + \cancel{12\sqrt{3}}}{2\Delta - 4} = \frac{19\sqrt{2} + 19\sqrt{3}}{19} = \frac{\sqrt{2} + \sqrt{3}}{1} = (\sqrt{3} - 1)^{-1} \times 2 = \frac{2}{\sqrt{3} - 1} = \frac{2(\sqrt{3} + 1)}{3 - 1} = \frac{2(\sqrt{3} + 1)}{2} = \sqrt{3} + 1$$

$$b) \frac{\sqrt{12}-1}{1+\sqrt{12}} + \frac{1}{1-\sqrt{12}} = \frac{(1-\sqrt{12})}{12\sqrt{12}-1} = \frac{12\sqrt{12}-11\sqrt{12}}{14-11} = \frac{\sqrt{12}(\sqrt{12}-1)}{3} \rightarrow \frac{\sqrt{12}-1+\sqrt{12}+1}{3\sqrt{12}-1}$$

vi) $\frac{\sqrt{1+\sqrt{x}} + \sqrt{\sqrt{x}-1}}{\sqrt{1+\sqrt{x}} - \sqrt{\sqrt{x}-1}} - 2 = A$

$$A = \sqrt{4}$$

$$A^r = \frac{\sqrt{\sqrt{r}-\sqrt{r}}}{\sqrt{r}-\sqrt{r}} = \frac{r\sqrt{r}+r\sqrt{r}}{\sqrt{r}-\sqrt{r}} \times \frac{\sqrt{r}+\sqrt{r}}{\sqrt{r}+\sqrt{r}} = \frac{r(\sqrt{r}+\sqrt{r})^r}{1} = r(2+\sqrt{4}) = (A+r)^r$$

$$\begin{aligned} & \sqrt[12]{r^4} \times \sqrt[12]{r^4} \times \sqrt[12]{r^4} = \sqrt[12]{r^4 \times r^4 \times r^4} = \sqrt[12]{r^{12}} = r = r^1 \\ & \sqrt[12]{r^4} \times \sqrt[12]{r^4} \times \sqrt[12]{r^4} = r^1 \times r^1 \times r^1 = r^3 \end{aligned}$$

$$\begin{array}{ccccccc} r^n & r^{n+1} & & r^{n+r} & r^{n+r} & & r^{n+\Sigma} & r^{n+\Delta} \\ r^n + r^n & & + r^n & + r^n & & + r^n & + r^n & \\ \hline & & & & & & & = \Delta r \end{array}$$

$$\cancel{119} \times r^n = \cancel{1195} \times r^{n+1}$$

$$\frac{r^{n-r} + r^{n-1} + r^{n-2} + \dots + r^1 + r^0}{r^n (1 + \frac{r}{r} + \frac{r^2}{r^2} + \dots + \frac{r^{n-1}}{r^{n-1}})} = ar = \frac{r^{n-r} + r^{n-1} + \dots + r^1 + r^0}{1 + \frac{r}{r} + \frac{r^2}{r^2} + \dots + \frac{r^{n-1}}{r^{n-1}}} = ar = \left(\frac{r}{r}\right)^n = 1, r^0$$

$n = 1$

$$\frac{1^m + 2^m + \dots + n^m}{n^{m+1}} \times \frac{1}{2}$$

$$a = \sqrt[r]{\sqrt{4} - r}$$

$$t = 14$$

$$b = \sqrt[r]{\sqrt{4} + r}$$

$$(a^r + b^r - rab)^r (a^r + b^r + rab)^r = t(r - \sqrt{r})$$

$$((a-b)^r)^r ((a+b)^r)^r = t(r - \sqrt{r})$$

$$((a-b)(a+b))^{\frac{2}{r}} = (a^r - b^r)^{\frac{2}{r}} = (\sqrt{4-r} - \sqrt{4+r})^{\frac{2}{r}} = (\sqrt{4-r} - \sqrt{4+r})^{\frac{2}{r}} = \sqrt{4-r} + \sqrt{4+r} - r\sqrt{r}$$

$$a = \sqrt[r]{\sqrt{r} - r\sqrt{r}} (\sqrt{r} - r)^r = \sqrt{r} - r$$

$$t = 2$$

$$(a + \frac{1}{a} + \sqrt{r})^r (a + \frac{1}{a} - \sqrt{r})^r = r^t$$

$$[(a + \frac{1}{a} + \sqrt{r})(a + \frac{1}{a} - \sqrt{r})]^r$$

$$((a + \frac{1}{a} + \sqrt{r}) - \sqrt{r})^r = (a + \frac{1}{a})^r = (\sqrt{r} - r + \frac{1}{\sqrt{r} - r})^r = \frac{1 + \sqrt{r} - r - \varepsilon\sqrt{r}}{\sqrt{r} - r} = \frac{-r(\sqrt{r} - r)}{(\sqrt{r} - r)} = (-\varepsilon)^r = +14 = r^2$$

$$A = \sqrt[r]{r^{\frac{1}{r}} \frac{1}{r^{\frac{1}{r}}}} = \sqrt[r]{r^{\frac{1}{r}} \times \frac{1}{r^{\frac{1}{r}}}} = \sqrt[r]{r^{\frac{1}{r}} \times r^{\frac{1}{r}}} = \sqrt[r]{r^{\frac{2}{r}}} = r^{\frac{1}{r}} = \varepsilon$$

$$(rA)^{\frac{1}{r}} = (1)^{\frac{1}{r}} = \sqrt[r]{1} = \sqrt[r]{\frac{1}{1}} = \sqrt[r]{\frac{1}{r}}$$

$$\sqrt[r]{a} = rva^{\frac{1}{r}} \rightarrow rv\sqrt[r]{a^{\frac{1}{r}}} = \sqrt[r]{a} \rightarrow rv \times a^{\frac{1}{r}} \sqrt[r]{a} = \sqrt[r]{a} \rightarrow rva^{\frac{1}{r}} = 1$$

$$\frac{1}{a} - r = n(1 + \sqrt{r})$$

$$b = \frac{r(1 - \sqrt{r})(r - \sqrt{r})}{9 - r} = \frac{4(r - \sqrt{r})}{9 - r} \sqrt{r - \sqrt{r}}$$

$$n = 1$$

$$\frac{r}{\sqrt{r}} - r = \frac{r - r\sqrt{r}}{\sqrt{r}} = \frac{r(1 - \sqrt{r})}{\sqrt{r}} = n(1 + \sqrt{r}) \rightarrow n =$$

$$\frac{r(1 - \sqrt{r})}{\sqrt{r}(1 + \sqrt{r})} = \frac{r(1 - \sqrt{r})}{r + \sqrt{r}} = \frac{r - r\sqrt{r}}{r + \sqrt{r}}$$

$$\sqrt{x+a} - \sqrt{x-r} = r$$

$$v' - v = r$$

$$rv' = \frac{a + \varepsilon + \varepsilon}{r} = \frac{a + 1}{r}$$

$$r^{\frac{1}{r}} - v^{\frac{1}{r}} = a + \varepsilon = (v' - v)(v' + v) \rightarrow v' + v = \frac{a + \varepsilon}{r}$$

$$\sqrt{x+a} + \sqrt{x-r} - r =$$

$$\frac{a + \varepsilon}{r} - r = \frac{a}{r}$$